zlg = [&l=lz ]z
— =
oL = TIZ|C |2
= |0 m z M|z |mQ
Al < = 2| Z |0
=g 4 mlzZ|s [ME
e m || m |89
I':F'I > z |I=Z | |©
(@)] C m m g A\
A < il e R
6' ml| < |[O0FR
= — =
=l | R FE
— T R
2| z £ N
7\ m Krawedz jezdni dr. powiatowej nr 1827C &
&0 | 14906 { | 14906 — ¥ 000
o | 200 ] 14907 1 [14911 = \ 004
200 ] N|B o |14908 149.15 Y L, oor
A e A o [
1800 | > 14928 Bl 14942 W 0.14
20,00 [ 14943 - - — — — — — — — — — — — — 4
2300 | 14932 TS| 149.44 = 0.12 A
27,0 = 0+02__§ Zip(1
200 TR (14933 {=r 0% 005 3 ,
700 || 298 [14925 |22 |149.32 0.07 N 0+0337il(1)
126 |y 33 = {149.27
4500 | 149.25 - __ - - - = v
18,74 149.28 a , 008
49,00 149.20 14928 = 0.04 0+049,5 Z112)
I : |
60.00 149.40 z ; 0+060 Zip(2)
65.63 | 149.40 s A
600 1 glg 14030 1 [14939 v : N
5 8 I / + swie |ca:h
7700 | S (14920 |0 |149.34 014 8
® \ 0+076,8 Zil(3)
82,00 14926 | tn o 14931 0.05
o° v
g
N
o |90 | 1911 | (14923 012 0+0952i||(_4|)_|
o— N
S| e 20 * | 14919 !
oifag| ) F—————————— —— —H
1350 1, TS |7 {14021 = P 004 041147 7ip(3)
2100 | 14920 |82 1 2 0.07
.00 4 — . 1
2800 4922 | |14928 ° 0.06
3263 149.21 v 4 A
010 a0s 5
43.00 14901 | [14907 04143 odwodnienieWoust WisStai Dt~ T T T L 006 S
4470 ——149.08 s T S
47,00 14910 | - |149.10 § "
57.00 | 14915 | g 149.18 P \ 0.03 0165 Zil(5)
o
(e} \ \ 0+165 Zip(5
%'U
g B
Ef X \
7400 | q Mz [rF | 14931 0.04
4]
@]
85.7 ® \
g0 PP 1940 | & || 14942 | 00 o
O |&% gay [ 1os: 0.08 0+195 Z{(6)
©—0.00 14952 - - - - — — — — — — — — — i 0+198 5 Zil(6a)
o | 400 a7 My L {1da5r A 0.04
: - - a
1200 | % 14963 | 1 [149.67 o 0.04_0+211,7 Zip(6)
75 | & 14970 | 1 |149.74 S | oo
22.00 14976 | 5| 1979 . \\ 0.03
Il
2000 |9 7k 198 | o| 1988 G e s i
©
N
1640 | L 115010 0.10
47.00 15000 Tz | 15010 Sacsini:
5700 | 150.15 [=Z | 15047 0.02
o= A
oot | [ Sl g
7100 | 990 1 r 150,11 ’ 0.12 S
= A
o3 2 0+277 Zil(8)
1 [2] p 0+283 odwodnienie-Wpust W2+St cht D2 v
84.00 519 14995 | ||149.99 , 0.04
> N 0+283,5prog
o 0+295figurka
66— 0+301,5pZA-sp | E
@ 600 | 14978 | | _[149.80 0.02
I /
17.00 | 14952 { | © | 14971 \ 0.18
24.00 14960 | a 149,64 0+321 "')pZA-qp} 0.04
| n“&éﬁzn(g)
s J
36.44 | 14953 5 A
&
14945 | | 14946 | 001 N
149.44 - — — — — — — — — — — — — =
iz [ | |8 AN
w . e N
SR |149.16 1 14929 po0m ©
33 'H / N
o
14896 | % — | 14908 o B At
o
14886 | © 5 |148.94 I oos 0¥ITTZI(10)
a /
86.00 14869 | ~ |14875 / 0.06
N |
© |57 | wass 108 § o0
%% | T oo | 14853 = 0400 Zp(9)
1l =
, J B
1000 | 14826 |3 1830 [ 0w G
1500 ] 14810 |8 [148.20 I o0 S
31z | 0+419 Zip(10)
e [e] ° / v
500 | 3|8 |147.9 148.00 0.05
25.21 > 148.00
35.00 | wrr | 14782 0.12
4100 | 14755 ] 147.74 A 0.19
4480 | 147.70 » [4
- 2
[ o
ol
o, v
Nz
©o
N
(@]
N
8159 812 ° 14732
TG R - § o
90.00 14702 | Z Z|147.14 I o1 A |_|_|
sE [ A 0+494 SiEt99)ZiI(11)
o %9 | == | 14696 ] o
o— 000 146.90 Q+500 adwadnienie-Wpust W3+St cht D3 %{ S
S| 300 ] 146.78 146,86 GerDopmg 008
303 — |86 A y
N
= o))
1400 | 14672 | oo ! |146.79 0 0.07
oy | 0+517 odwodnienie chadnikowe Qch1 3 // ]
2100 | 14664 | Qo | 146.75 0.11 ]
2400 | 14667 1N [14674 : w7 0.07 0+524 Zpp(12)
20 | em=n 1466 ] |67 0+524 przspust Zjazdowy P04 T | 0.08 0:838% 713 | |
310 || 588 [14658 146.69 : 0.1 — 2
- 5 3 c’\o / g"
30.05 146,64 H
4300 | 146.56 146.62 ’I 0.06 2
46.95 — 146.58 _ _ [ A :
54.00 14643 | | 14651 || oo & H
88 || 2 e
I ’ o 0+559 Zpl(14)petla 5
= | 146,39 J v H
6k | e 00 _/ _# 0.04 i
14621 [ A 0+573 Zpl(15)petla
146.26 | w |146.15 | 0+583 adwadnienie chadnikowe Qch3 | -0.10 5
14594 | Sz | 146.09 I 0.15 @
14594 | °|14599 / 0.05 °
o = |145.93 — I [ ] v 0+597 Zpp(13)
+597 j -0,
O— 2] | |uss0 | |58 preepust zjazdowy ™ | ‘[ 0.08
4| 3 ] 14590 A b 0.01
8001 3o |58 145,90 —
924 > 14592 o / P LT
17.00 | ] 14593 R 0.11 oil2 B33 o85345 QN
w| el T i
00 A3 . . = a S |eR=glNeok
2476 To1.5pk | 14578 7} 5 S5z (s 320103
g 8 2lzg |, |525g7e2dg
- S 8|3g|j|5228%7882 @
38.06 = (14541 2|95 |8NEGFInc g2 =
2.0 1523 [w [|14520 1 oo v g2 lelii2 e52d8 §
87 B / O|oB|ElgandgEeg —
49.00 NES (14500 JX| 14504 0.04 £ 138153588238 2
2es 7= [/ A g |28 |=lsi3 ki1 3
56.00 14469 | || 144.74 /7005 = 0+6535Zi(16) (2 |5 ¢ [p[T525|Va=82 ¢p
2 ws |12 H o 2 flE
. . . = s ERNERG
64.54 1 ] 144.32 / S seis| 5337 |BQ
69.00 | 14402 ]| T 14411 0.09 E] - >
72.00 _YM 14384 1|01 143.98 [ /] o014 y p—— 1O | Z
75.00 | 143.74 | = 143.85 / 0.11 0+672 Zil(17) !;_«g% 933 © o @ <
53 =z A 025 299 88,2
SIS = = 525 Re2IC S S|P =
85.47 4! 114350 & R FESIE S =
90.00 7 32 -5 14336 2 /] om 580 §lSi= e
! >/ T2 O85% | 8¢3¢
O 9800 14299 ] (0| 143.13 1 om > = SR
N inT 83§ // 0+700ZiI(18) | » S g
@ DN o S
100 || S5 |14267 | 142.75 L/l o008 —|_| S &5
X // 0+711 Zil(19) B
18.00 142,54 14255 Koniec adcinka robt s 001 1z
Mﬂ—‘Z K nT N8
£z P2
> (72}
3100 14220 | = [142.20 0.00




